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If n < 0, which of the following systems has no solution?

A)     y = x2 C)     y = ­x2 
             y = n          y = n

B)     y = x2 + n D)     y = ­x2 + n
        y = n     y = n 
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Sabrina wants to plant a vegetable garden and a flower bed in the two 
corners of her back yard.
She sets up some concrete borders on two sides of the vegetable 
garden and on two sides of the flower bed to separate them from the 
lawn.  The following figure shows the layout of the yard.

• The yard is square.
• The vegetable garden is square.
• the flower bed is rectangular.
• The total length of the concrete borders is 23m.
• The total area of the vegetable garden and the flower bed is 47m2.

What is the distance between the vegetable garden and the flower bed?
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• The total length of the concrete borders is 23m.
• The total area of the vegetable garden and the flower bed is 47m2
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